

AGRICULTURAL COMMISSIONER'S OFFICE 950 NORTH RAMONA BLVD., SUITE 15 SAN JACINTO, CA 92582 PHONE (951) 654-3266

MICHELE TRACY SUPERVISING AGRICULTURAL AND STANDARDS INVESTIGATOR II

SAN JACINTO/TEMECULA VALLEY ACREAGE AND AGRICULTURAL CROP REPORT 2015

Riverside County's total gross valuation for 2015 is \$1,301,551,000.

Riverside County's total agricultural production is derived from four separate and distinct districts: Riverside/Corona, San Jacinto/Temecula Valley, Coachella Valley, and the Palo Verde Valley.

Below is a table comparing the value of the agricultural crops in each of the districts during the last three years.

	2013	2014	2015
Riverside/Corona	\$110,078,000	\$96,205,000	\$94,139,000
San Jacinto/Temecula	165,035,000	175,767,000	151,976,000
Coachella Valley	615,621,000	625,602,000	649,732,000
Palo Verde Valley	167,701,000	171,013,000	146,197,000

We must emphasize that this report reflects only a gross return and in no way represents a measure of profit to the producers.

If you have any questions regarding this report, or desire the complete Annual Riverside County Agricultural Production Report, please visit our website at www.rivcoag.org or write or call your local Agricultural Commissioner's Office.

JOHN SNYDER
AGRICULTURAL COMMISSIONER\
SEALER OF WEIGHTS AND MEASURES

CITRUS CROPS

			Produ	ction			Value
	Planted	Harvested	Per			Per	
	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Grapefruit-Ruby	2,272	2,272	15.00	34,100	tons	320.00	10,912,000
By-products			2.50	5,680	"	63.00	358,000
Grapefruit-Red	1,036	1,036	14.50	15,000	"	441.00	6,615,000
By-products			2.60	2,690	"	60.00	161,000
Lemons	597	597	13.69	8,170	"	1,046.00	8,546,000
By-products			2.50	1,490	"	90.00	134,100
Oranges-Navel	370	370	12.00	4,440	"	425.00	1,887,000
By-products			4.90	1,810	"	45.00	81,500
Oranges-Valencia	189	189	9.50	1,800	"	273.50	492,000
By-products			2.60	491	"	64.50	31,700
Miscellaneous*	48	48	6.38	306	"	1,214.34	372,000
TOTAL	4,512	4,512					29,590,000

^{*} Includes: Limes, Mandarins/Tangerines.

TREE AND VINE CROPS

			Produ	Production			Value
	Planted	Harvested	Per			Per	
	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Apples	28	20	2.84	57	tons	1,516.50	86,400
Apricots	17	17	2.05	35	"	1,453.50	50,900
Avocados	4,515	4,515	2.25	10,200	"	2,450.00	24,990,000
Cherries	20	20	1.01	20	"	4,500.00	90,000
Grapes-Wine	2,525	2,460	3.90	9,600	"	1,407.00	13,507,000
Miscellaneous*	163	163	7.20	1,170	"	1,690.63	1,978,000
TOTAL	7,268	7,195					40,702,000

^{*}Includes: Grapes-Table, Olives, Peaches, Persimmons, Plums, Pomegranates.

VEGETABLE, MELON, AND MISCELLANEOUS CROPS

		Produ	ction			Value
	Total					
	Harvested	Per			Per	
	Acreage	Acre	Total	Unit	Unit	Total
Chinese Cabbage	600	16.00	9,600	tons	520.50	4,997,000
Oriental Vegetables	750	9.20	6,900	"	737.81	5,091,000
Miscellaneous*	4,266	17.69	75,500	"	366.77	27,691,000
TOTAL	5,616					37,779,000

^{*}Includes: Celery, Chives, Corn-Sweet, Cucumbers, Eggplant, Herbs/Spices, Onion-Dry, Peppers-Bell, Potatoes-Spring/Fall, Pumpkins, Spinach, Squash,-Summer/Winter, Strawberries, Watermelon.

FIELD AND SEED CROPS

		Pro	duction			Value
	Total Harvested Acreage	Per Acre	Total	Unit	Per Unit	Total
Beans, Dry	192	0.60	120	Ton	1,920.00	230,000
Grain						
Wheat	5,795	1.01	5,850	"	220.00	1,287,000
Green Chop						
Alfalfa	1,681	14.20	23,900	"	57.00	1,362,000
Corn	53	26.00	1,400	"	55.00	77,000
Oats	1,494	7.10	10,610	"	52.50	557,000
Rye Grass	1,881	8.00	15,000	"	57.00	855,000
Sorghum	828	15.00	12,400	"	52.61	652,000
Triticale	1,361	2.85	3,880	"	185.00	718,000
Wheat	5,200	8.00	41,600	"	50.00	2,080,000
Hay						
Alfalfa	883	10.00	8,800	"	225.00	1,980,000
Oats	1,816	2.00	3,600	"	200.00	720,000
Pasture, Irrigated	190			acres	120.00	22,800
Range	10,000			"	2.00	20,000
TOTAL	31,182				·	10,561,000

NURSERY STOCK PRODUCTION

		Production		Value
	Acres	Total	Unit	Total
Ornamental Nursery Stock	709	14,035,891	Various	21,490,000
Cut Flowers	117	374,400	Cuttings	374,000
Turf	808	35,196,480	Sq. Feet	11,293,000
Christmas Trees	60	3300	each	187,000
Total	1,694			33,344,000

SUMMARY

	Harvested Acreage	Valuation
Citrus Crops	4,512	29,590,000
Tree & Vine Crops	7,195	40,702,000
Vegetable, Melon & Misc. Crops	5,616	37,779,000
Field & Seed Crops	31,182	10,561,000
Nursery Stock	1,694	33,344,000
TOTAL	50,199	\$151,976,000